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� GENERAL INSTRUCTIONS TO THE EXAMINEES : 

� (1)� ������������������������������
�������������������������������������� ����!�"�#�$�
� � Candidates must write first his / her Roll No. on the question paper compulsorily.�
 (2)� �������������������
������������%&��$��
� � All the questions are compulsory.�
 (3)� ��� ��
��������������'(����)���*�+��'(������,�� �������#�%����!�"�#�$��
� � Write the answer to each question in the given answer-book only.�
 (4)� �-�����������#���#���� �������"��.��%&�/�'�����0����
��'(����1���������%����!�"�#�$��
� � For questions having more than one part, the answers to those parts are to be written 

together in continuity.�
� (5)� �������������
���%��)��������*��
-���23���� ������#�����������������������,�	��4��� ���4�������
5��0�����%��
��
�������%��)���0��6����
������������
�

��%��������#�$���
� � If there is any error / difference / contradiction in Hindi & English versions of the 

question paper, the question of Hindi version should be treated valid. 
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 (6) 0��*��    ����������"���� �������� ��
��������� 

  �  1 – 8 1 

  7�  9 – 14 2   

  ��  15 – 24 3 

�  )�  25 – 30� 5� � � �

� � Part  Question Nos. Marks Per Question 

  A  1 – 8 1 

  B  9 – 14 2  

  C  15 – 24 3 

  D  25 – 30 5 

 (7)� ��������8��������28���
�30���#���� ������������!���%&��$�

� � There are internal choices in Q. No. 28 to 30. 

�

������–���

PART – A�
 

1. !��
%
�����
�-��*����
�7�9����
��
��)��
�'�������!��"���
�$� � � �

� Write two ways to prevent rusting of iron.  1  

 

2. 2Mg + O2 → ?  

 '�����
: ����0���8��������
���
��������-�1�$� � � �

� 2Mg + O2 → ? 

 Complete the above reaction.   1 
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3. 1
!���
%��;!���
����5�������������#���
�������
�)��
�%��������<��!�"��
�$�   

 Write two disadvantages of drinking alcohol in excess. 1�

�     

4. :!��
�������
��)��
����������������!��"���
�$� � �   

� Write two isotopes of chlorine.   1 

  

5. '�������-�����������������!��"�1��-�����
���!�
����������
*��' ������%��
 ���%=��$� � �

� Write name of Parasite which causes Malaria disease. 1  

 

6. ����������>��6	���
�� �?@������������
���!�1�‘��,���6	��)������������!�� ����)
����’ �����������!��"�1�$� �

� Write value of the ‘least distance of distinct vision’ for a young adult with normal vision. 1 

 

7. �)�1�*�1����������9������#����� �������
�������������1����A������B � ���������������������!��"�1�$�

�

� In the given ray diagram write the value of angle of incidence and name of refracted            

ray.    ½ + ½ = 1   
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8. �)�1�*���
��������������� �,!������� ����
5���!��"�1�$�� � � �

� � � �

� Write equivalent resistance of given circuit. 1  

   

 

������–� ��

PART – B 

 

9. 0�-����� ��������� ���������#��� �����������
�$� � � ��

� Differentiate between calcination and roasting. 2 

 

10. C�D E�-�����
�����
+��)��
���������������F��
 ��#��
���������!��"�1�$� ��

� C7�D� �������E�-�����
��'�����
*���������
+��)��
�������1<��!��"�1�$� �

� (a) Write names of any two conventional sources of energy.  

 (b) Write any two limitations in harnessing wind energy. ½ ×××× 4 = 2 

 

11. ���)�� ��	�����
�� *��
!�� 7��-�� ���!�
�!��7�
� ���=5��#��������������� C�8��;��D�G�,���)����� 7��-�� ���!�
� 7��=��
�!�������,: �� ���=5��#� ��
����������

-����
� ��
�������������H� ��������IJ�����#�����������������
�����=5�
������ ��%��#*�
�K��H� ��������IJ���(F2)���#������ �����=5��#���������!�������

���,��� ��0����!��"�1�$�� � � �

� If long plants of pea with round seeds are crossed with short plants with wrinkled seeds, 

which type of plants will be obtained in first and second generations ? Write the 

phenotypic ratio of plants obtained in second generation (F2). 1 + 1 = 2  
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12. ����������#�L!�*�����5��������������5�����:����%=��K�����G��+1�$�� �

� What is the basis of sex-determination in human beings ? Explain. 2  

 

13. C�D� ���%����#��
�����9��>�����)��������
��23�����#������,: ��*��
!�����)������������������!��"�1�$��

� C7�D� ���
+�����M, ��7�!7��220 V �
��-���������
�������
�-� ��%=��$����)��7�!7����
�0.5 A 5�������������%� ��%��
 ���%=�� ��
�7�!7������

���: �������������!��"�1�$���

� (a) Write name of spherical mirror used as rear-view mirror in vehicles. 

 (b) An electric bulb is connected to a 220 V generator. Write value of power of bulb if 

0.5 A current is flowing through the bulb. 1 + 1  = 2 

 

14. ���
�!�
����M, ������������#���#���������� ������M, ������5����#�C'���������#D����
������� ����C�������D�������
-������#�:���#�-��
.J� �
�%&��K��

� Why are in the household electric circuits the electric appliances (instruments) connected 

in parallel combination ?   2 

 

������–����

PART – C 

 

15. C�D� �������,: ��"��M���)�����N����
�����O� �*���5� �����
�7�9����
��
���!���
�:�����������-�� ���%=��K�

� C7�D� CuO + H2 → Cu + H2O 

  '�����
: ����0���8�������#���������)����������'��9������%��
���%���%=�����������������9������K��

� (a) What is done to prevent rancidity in foods containing fats ? 

 (b) CuO + H2 → Cu + H2O    1½ + 1½ = 3 

 In the above reaction which substance is being oxidized and which is reduced ? 
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16. C�D� �������������������
���%� �
�%&��K�

� C7�D� ��5�,���������� ������������!��"���
�$�

� C��D� )��
�' �O�6	��*�=���#��
���������!��"���
�$� � � ��

� CPD� What are isotopes ?    

 (b) State modern periodic law. 

 (c) Name two noble gases.   1 + 1 + 1 = 3 

 

17. C�D� 5�� �,��#��
��)��
�*�,����!��"���
�$�

� C7�D� ���Q�5�� �,������
���%� �
�%&��K�)��
�')��%������)���-���
�$�

� C��D� 5�� �,�����5�� �,��
����;:���+.��#���������O�� ��7� ��+��
�$� ��

� (a) Write two properties of metals. 

 (b) What is alloy ? Give two examples. 

 (c) What is the nature of oxides of metals and non-metals ? 1 + 1 + 1 = 3 

 

18. C�D ���������������9���������8�������#�1�-��+���#�����0�
����������
�����G��+1�$�

� C7�D� ��.J������,����������>��6	����
�100����R!��R�����������: ����#�1
!���
%��;!��������� �����������������
��������,��� �����
*���%=��K��

� (a) Explain briefly the role of enzymes in the process of digestion in human beings. 2 

 (b) In view of road safety what is the permissible level of alcohol in 100 ml of human 

blood, legally ?   1 
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19. �*���������*���������
�F����� ��%��
��
����!�
�%�����S������������� �������������!��"�1�$�+��������������
�%��
��
����!�
����
*������������

�!��"�1�$� � ��

� Write the name and function of hormone secreted by Pancreas gland. Write the name of 

disease caused due to its deficiency.   1 + 1 + 1 = 3 

 

20. ������������ �6����������������� ���9����7���������+���
�����
+��)��
���������!��"�1�$��

� Draw a labelled diagram of human brain and write its any two functions. 2 + 1 = 3  

 

21. ���)��0��
����������5������
��)��=�������������C�!�
��
�	��D���� �*��� ��%��
�-��1� ��
�:�������0�����%��
*���K�����G��+1�$��

� What will happen if placenta is damaged during the development of an embryo ? Explain. 3 

 

22. C�D� ���
+�� ����: �� ������ ���� ��� �,� ���
� ���6	�� ��%�T� )
�"�� ���� ���  ��
� >��6	��)��
6�� ���� ������ �!��"�1� $� +��� >��6	��)��
6�� ��#�

�����,: ��!�#��������������!��"�1�$�

� C7�D� ‘L	�.�!�����0����’����
������
�����#�����G��+��
�$�

� (a) A person cannot see nearby objects, then write name of eye defect. Write name of 

lens used to correct this eye defect. 

 (b) In brief define ‘Tyndall effect’.   1 + 1 + 1 = 3  

 

23. ��
����������������!��"�1�$���
����
������������
����7���5� ���)�1�*�1�������������#���,�: ��X �� Y �����������!��"�1�$���

�
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� Write Ohm’s law. Write name of devices X and Y in the given circuit related to Ohm’s 

Law.    1 + 1 + 1 = 3 

 

 
 

 

24. ���M, ��5���������
������0���6� ������-�1�$�����������M, ��7�!7���
�� �� �,���#�1A ����5������30���
���.� �����������%� ��%��
 ���%=��$�

���M, ��������������
��������%� �����M, ������
������������������U�� ������-�1�$���

� Define electric current. A current of 1A is drawn by a filament of an electric bulb for 30 

second. Find the amount of electric charge that flows through the circuit. 1 + 2 = 3 

�

������!��
 

PART – D 

 

25. (i) %��+.V��
-�����������[H+] ��������W� ����������!��������������O�� �������:�������0�������.J� ���%=��? 

 (ii) ��!�����
� ���,�O� ������ �
����������!�����
�-�!����#����!������-�� ���%=���������-�!�����
���!����#�$���������)���-���
�$�

 (iii) ��� �������=���+��!�����#������
�-����
����!�
���!��#��
���������!��"���
�$�

 (iv) :!��
��������������8����������
���%� �
�%&� ?��

� (i) What is the effect of hydrogen ion [H+] concentration on the nature of the solution ? 

 (ii) When acid is diluted, acid is added in water, not water in acid. Give reason. 

 (iii) Name the acid present in orange and tamarind. 

 (iv) What is chlor-alkali process ?   1 + 2 + 1 + 1 = 5 
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26. C�D� ������-�������
�:������0��������%=��K�

� C7�D� ��
-��
������������
��������������G��+1�$�

� C��D� ‘-�!�����*��%��������"���)���������9����’��������������� ���9����7���������-�!�������������
�����
+��)��
�'�������!��"�1�$��

� (a) What is a  detergent ? 

 (b) Explain the causes of Ozone depletion. 

 (c) Draw a labelled diagram of ‘Khadin water harvesting system’ and write any two 

measures of water conservation.   1 + 2 + 2 = 5 

 

27. C�D� ���M, ��-��������������������� ���9����7����+��
�$�+������7������	��1����A�������������!������
������
�����#�����G��+��
�$�

� C7�D� �������XY.J��9�,�7��������9�,�7���������
����
�"����#��
�����
+��)��
�*�,����!��"�1�$� � ��

� (a) Draw a labelled diagram of an electric generator. Explain its construction and 

working in brief.   1 + 2 = 3 

 (b) Write down any two characteristics of magnetic field lines of a bar magnet. 1 + 1 = 2 

  

28. C�D� ')��%������)
����������G��+��
�$�

� � (i)� ��� �O� ��%��+.V��
���7�����

� � (ii)� ���� �O� ��%��+.V��
���7���������%��+.V��
-�����������

� C7�D� ���7��������������,�����)��
������
6� ��1<��!��"���
�$�

� C��D� ���� ������������0���8����������
���%� �
�%&��K�

� � � �����������

� C�D� ���7�,��� �����������-�������#��� ����7� ��+��
�$�

� C7�D� ��,Z��1����	������!�����
�*!�
��!��1����	������!��:���#���%� �
�%&��K�

� C��D� ��%�������
-�����7��5�������
���%� �
�%&��K���%�������
-������=�*����#��
��)��
�*�,��5�����7� ��+��
�$�
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� (a) Explain with example. 

  (i) Saturated hydrocarbon 

  (ii) Hydrogenation of unsaturated hydrocarbons. 

 (b) Write two characteristics of carbon atom. 

 (c) What is substitution reaction ?   3 + 1 + 1 = 5 

� � � �����OR 

 (a) Differentiate between soap and detergents. 

 (b) Why pure acetic acid is called glacial acetic acid ? 

 (c) What is covalent bond ? Write two properties of covalent compounds. 1 + 1 + 3 = 5 

 

29. C�D� ��������[�)������������������ ���9����7����+1�$��

� C7�D� ������������������#��!�
	�!�
	A�����������,���������#�:����'�����
*��%=��K� �

� C��D� ��������?@�5������#�'������ ��!��!����: ������������#���#����=������������������������������-�� ���%=��K�

� � �����������������������������

� C�D� !�������������
���%� �
�%&��K�

� C7�D� ���������
��' ��-����� ������������������� ���9����7����+1�$   

 C��D� ���)����������6	����)�����N�����' ��-������=���
����� �
�%&��K�����G��+1�$�

� (a) Draw a labelled diagram of human heart. 2 

 (b) What is the use of platelets in maintenance in human beings ? 2 

 (c) Which respiratory pigment is found in red blood corpuscles present in human    

blood ?   1 

� � ��������OR�

 (a) What is lymph ?   1 

 (b) Draw a labelled diagram of human excretory system. 2 

 (c) How plants excrete waste products ? Explain. 2 
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30. '(�!��!�#����
����,"���\��
��������
������0���6� ������-�1�$�1����7��7��'(�!��!�#����
����,"���\��
�����F 1����A 2F �
����5���

���� ��%=��$�+���
������ ��7��7��7�����
�����������������������9����7����+��
�$�

� � !�#�����
����!��"�1�$�

� � �������!�#�������\��
�����)
�����0.5 m %=�/� ��
�!�#����������� �������*�����������-�1�$�

� � � �������

� *��
!�����)��������
�����8� ����
��W�����
������0���6� ������-�1�$��

� � 1������ �!��)��������
��H���������� ��7��7������7�������)�������
��
���!�1����������9����7����+1�-�7�����1����7��7��1����A�

+���
������ ��7��7����������������������%=��$�

� � )���������
����!��"�1�$�

� � ���)��1������5�������������� ���������1.5/�������� ����#��������������9��!��3 × 108 m/s %=�/� ��
����5�������#��������������

9��!������*�����������-�1�$� � � � ��

� Define principal focus of a convex lens. Draw light ray diagram of an image formed, 

when the object is placed in between principal focus F and 2F. 

  Write lens formula. 

  Calculate power of a lens if its focal length is 0.5 m. 1 + 2 + 1 + 1 = 5  

� � ����������������������������OR 

  Define centre of curvature of a spherical mirror. 

  Draw a ray diagram for the image formation by a concave mirror when the size of 

an object and its image are same. 

  Write mirror formula. 

  Calculate speed of light in a medium if refractive index of the medium is 1.5 and 

speed of light in vacuum is 3 × 108 m/s. 1 + 2 + 1 + 1 = 5 

____________ 
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